

Oddělení A:

Př. 1: Vypočítej:

$$(0,5 + 0,3) \cdot 0,4 =$$

$$2,6 + 0,9 \cdot 0,2 =$$

$$0,4 + 0,3 \cdot (0,4 - 0,2) =$$

$$(13,4 - 8,9) : 0,5 =$$

Př. 2: Vypočítej:

$$[(1 + 2) : 3 + 4] : 5 =$$

$$(1 \cdot 2 \cdot 3 + 4) : 5 =$$

$$1 \cdot 2 + 3 - 4 + 5 =$$

$$(1 + 2) \cdot 3 - 4 - 5 =$$

Oddělení B:

Př. 1: Vypočítej:

$$(0,3 + 0,5) \cdot 0,4 =$$

$$2,6 + 0,6 \cdot 0,3 =$$

$$0,4 + 0,3 \cdot (0,5 - 0,3) =$$

$$(23,4 - 18,9) : 0,5 =$$

Př. 2: Vypočítej:

$$[(1 + 2) : 3 + 4] : 5 =$$

$$(1 \cdot 2 \cdot 3 + 4) : 5 =$$

$$1 \cdot 2 + 3 - 4 + 5 =$$

$$(1 + 2) \cdot 3 - 4 - 5 =$$

Oddělení A:

Př. 1: Vypočítej:

$$(0,5 + 0,3) \cdot 0,4 =$$

$$2,6 + 0,9 \cdot 0,2 =$$

$$0,4 + 0,3 \cdot (0,4 - 0,2) =$$

$$(13,4 - 8,9) : 0,5 =$$

Př. 2: Vypočítej:

$$[(1 + 2) : 3 + 4] : 5 =$$

$$(1 \cdot 2 \cdot 3 + 4) : 5 =$$

$$1 \cdot 2 + 3 - 4 + 5 =$$

$$(1 + 2) \cdot 3 - 4 - 5 =$$

Oddělení B:

Př. 1: Vypočítej:

$$(0,3 + 0,5) \cdot 0,4 =$$

$$2,6 + 0,6 \cdot 0,3 =$$

$$0,4 + 0,3 \cdot (0,5 - 0,3) =$$

$$(23,4 - 18,9) : 0,5 =$$

Př. 2: Vypočítej:

$$[(1 + 2) : 3 + 4] : 5 =$$

$$(1 \cdot 2 \cdot 3 + 4) : 5 =$$

$$1 \cdot 2 + 3 - 4 + 5 =$$

$$(1 + 2) \cdot 3 - 4 - 5 =$$

Oddělení A:

Př. 1: Vypočítej:

$$(0,5 + 0,3) \cdot 0,4 =$$

$$2,6 + 0,9 \cdot 0,2 =$$

$$0,4 + 0,3 \cdot (0,4 - 0,2) =$$

$$(13,4 - 8,9) : 0,5 =$$

Př. 2: Vypočítej:

$$[(1 + 2) : 3 + 4] : 5 =$$

$$(1 \cdot 2 \cdot 3 + 4) : 5 =$$

$$1 \cdot 2 + 3 - 4 + 5 =$$

$$(1 + 2) \cdot 3 - 4 - 5 =$$

Oddělení B:

Př. 1: Vypočítej:

$$(0,3 + 0,5) \cdot 0,4 =$$

$$2,6 + 0,6 \cdot 0,3 =$$

$$0,4 + 0,3 \cdot (0,5 - 0,3) =$$

$$(23,4 - 18,9) : 0,5 =$$

Př. 2: Vypočítej:

$$[(1 + 2) : 3 + 4] : 5 =$$

$$(1 \cdot 2 \cdot 3 + 4) : 5 =$$

$$1 \cdot 2 + 3 - 4 + 5 =$$

$$(1 + 2) \cdot 3 - 4 - 5 =$$